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2016
COMPUTER SCIENCE (Honours)
Paper Code : 1I-B
llabus)
rull Marks ; ag Sk itTimua- - One Hour Forty Minutes

The fieures in the margin (ndicale il Tk,

Group = A
Answermy fwo questiond.

['J‘:'ljjl Smdﬂmm[—ln .. 69] is stored in o memory whose STArting
g lf 1500, Assume that the ward size for sach element is 2. Then find oul

M What is the jocafion of ar [3)] 7

(h) Write down & recursive algorithm to implement binary search on an
amuy of clements.

(e} Wit are the limitations of finked kst 7 14542

&

ﬁ :;,n)‘ Convert the following expression into post fix notation :
A+(B=C)-D/E
gﬂ ertunnalgnﬁlfmﬂﬁpcrﬁ}mmcﬂﬁﬂﬂ'mdﬂﬂmm
in & Queve.
What is an algorithm 7 Mention the different chamcteristics of it
A 3+(242)43

3. (a) wﬁm@ﬂmmmmmmnmwﬂ@_
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) Wi iy [Hvidhe-and-consquer alporithin 7

’hm.“:z]ﬁmh e fifFevenoe betwoen lincuy dati i 54243
sitrple. ‘ b Lot
Group - [ |
Angwor my fio guostiors. '
Wm-:#m Ml:wW?%,ﬁn:ﬂminC&mIW““unr
Meper vadtables
(D) » Give the outpul wid explain.
int main ( )
[ b 4= 100,
pring /("% d % d %% o7, 1+ 1 Fri AN
retum (0,
) )
. 52)» Whit s type casting ? (1+4¥342

£

3. (8)s Whal is the purpose of main ( ) function 7
(b) What is the difference hetween getche ( ) and getch (Y7

(che Wrile a C program which deletes the duplicot= element of an amy.
v 34245

+
-

+

4;k3!f What is the difference between string mnd anmy 7
(b) What is s Modulas apertar ? What are the restrictions of Modulas

operator 7
(c)aDiscuss ubout the scope undd fifetime of sutic and exiemal stompe cliss.

Give a smull Wﬂmt.mwmmﬂmnﬁﬂu
(d) What is equivalent’ expression of x % & 7 2eYd+]

( 79
17182, 183 - 200
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P-1(1s141) H/18 (N)

2018
COMPUTER SCIENCE (Honours)

Paper Code : 11-B
[New Syllabus]

Full Marks - 4 Time : One hour Forty minutes
The figures in the margin imdicate full T ks.
Answer any four questions toking pwo from &ach group.

Group - A

1. (a) Write an algoritun that prints the data of singly linked list reversty without
reveriing the linked Hsa

(h) What are the advantoges and dissdvaniages of linksd list over armay?
(5+5)=10

2. (=) Define queve. Wiile the dissdvantages of anmy representation of quisue.
(b) Write an algorithm that performs the followmg operations on a circular
quene

(i) Insert an clement first

() Delete an element first. (2+ 23+ 3y=10

3. (2) How many elements are there in & upper-trinngular matrix of onder n * n.
Olbstain the address of element ay, 17, f <0, using row major order.

(b) Write an algarithm that performs sclection sor on an amay of *n’ clements.

Deseribe it with suitable example. (2+2H{353)10

Thrn Over

11143 - 300 (il )
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Group - B
ks
an inleger number s hmmmﬂnhﬂ” |

i, fa] Wi gl 3
rite a function in C that iakes iy & st B

Whether jts i bit in binary {s zem (U) or one
by the user,

(b) Wiy break statement is used in switch-case staternent?
() What is macro substitufion?

5. (2) Differentinte between structure & union.

(b) Write & progrmm in C that creates & new siructure named point, having x
and ¥ co-ordinates. Now write & function that adds two points.
(44442)=10

(3+3+2y=10

(c) What is the function of stremp?
6. (a) What is command line arguments? Discuss with the help of an example.
(b) Differentinte between eall by reference & eall by value.

{c) Wnie a function in C that copies all the contents of a text file to another
' text file, (3+3+4)=10
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